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Chain stitch.

Basic treble stitch.
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Crocheted rose

Hank/string measure approx. 2 metres
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Cast on 400 chain stitches.

Do 2 stitches from the needle and then crochet
one slip stitch, then slip stitch along the edge
of the border. Cut and sew the end.

The rose is approx. 8 cm in diameter (approx. 15 g
of yarn)
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Cast on 103 chain stitches.

Crochet 4 stitches from needle *1 chain stitch,
slip 2 stitches, 1 stitch* repeat for the full row.
You now have a small ladder with 35 steps.
Turn the work over.

2 chain stitches *6 stitches in the space, 1 slip
stitch in the next space* repeat for the entire
row until you have a total of 17 rose petals.
Leave a long string of at least 50 cm for
attaching and sewing on the brooch needle.

4. Carefully roll it up — but not too tight — and now

use the other side of the ladder stitch design
to assemble the rose. Carefully sew in a criss-
cross on the back so that all the rose petals
stick. Gently shape the rose petals.

5. Sew on to the brooch needle to finish.

Abbreviations and symbols explanation

stitch

slip stitch

chain stitch

basic treble stitch
repeat from * to *

s
ss
ch
tr
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